
Footrest and Legrest Accessories
NOTE: Heel loop replacements for Power Articulating Legrest located

on the Power Articulating Legrest page.



Footrest and Legrest Accessories
NOTE: Heel loop replacements for Power Articulating Legrest located

on the Power Articulating Legrest page.

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1032243 Strap, Calf w/ Hook and Loop (36" L) 1 1A
1032215 H-Strap (26" L) 1 1A,B
1032216 H-Strap (31" L) 1 1A,C
1026987 Guard, Impact (8" L) 1 2A,E

See Chart Heel Loops and Hardware (Not Including AT5543) 1 1D
See Chart Attaching Hardware Part Numbers (Not Including

AT5543)
1 1D

See Chart AT5543 Heel Loops, Heel Loops w/ Ankle Straps
and Hardware 

1 1D
See Chart Toe Loops and Hardware 1 1D

A - See drawings for reference  
B - For 16"-18" wide models  
C - For 19"-22" wide models  
D - Not Shown  
E - For 70 deg. Tapered Footrest.  

NOTE:

 

Footplate
Type

Heel Loop w/
Ankle Strap

Pair #
Attaching 
Hardware

Pair #
Chair
Width

Heel Loop
Single #

Heel Loop
Pair #

Heel Loop w/
Ankle Strap
Single # Rt.

Heel Loop w/
Ankle Strap
Single # Lt.

103593110359061035909-NLA1035908-NLA1035912-NLA1028412-NLA16-17" W
Tapered

Composite
Small
(1651)

10359311035918103592010359191035917-NLA1017621
16" W

or
18-19" W
Tapered

Composite
Medium
(1651)

103593110359301035933-NLA1035932-NLA1035917-NLA1017621
17-22" W

or
20-22" W
Tapered

Composite
Large
(1651)

10359071035918103592010359191035917-NLA101762116-22" W
Standard
Aluminum

(1650)
10552411035918103592010359191035917-NLA101762116-22" W

X-Large
Aluminum

(1350)

Attaching Hardware Part Numbers (Not Including AT5543)

Footplate Type Part Number Part Number
Consists of



Footrest and Legrest Accessories
NOTE: Heel loop replacements for Power Articulating Legrest located

on the Power Articulating Legrest page.
Attaching Hardware Part Numbers (Not Including AT5543)

Footplate Type Part Number Part Number
Consists of

(2) Screw, Phillips Pan Head
(1/4-20 x 2-1/4")

(2) Spacer (1/4 x 11/32 x 1-3/4")
(2) Hex Nut w/ Nylon Cap (1/4-20)
(2) Flat Washer (1/4 x 5/8 x 1/16")

1035931Composite (1651)

(2) Screw, Phillips Pan Head
(1/4-20 x 2-1/2")

(2) Spacer (1/4 x 11/32 x 1-3/4")
(2) Locknut (1/4-20)

1035907Standard Aluminum (1650)

(2) Screw, Phillips Pan Head
(1/4-20 x 2-1/4")

(2) Spacer (1/4 x 11/32 x 1-3/4")
(2) Locknut (1/4-20)

1055241X-Large Aluminum (1350)



Footrest and Legrest Accessories
NOTE: Heel loop replacements for Power Articulating Legrest located

on the Power Articulating Legrest page.
AT5543 Heel Loops, Heel Loops w/ Ankle Straps and Hardware

Footplate
Type

Part
Number

Part 
Number

Consists of
(2) Heel Loops

(4) Screw, Phillips Pan Head (1/4-20
x 2-1/4")

(4) Spacer
(4) Locknut (1/4-20)

1160723
Kit, Heel Loop w/ Hardware,

Adjustable Angle Footplate (Pair)
AT5543 Adj. Angle

(2) Heel Loops w/ Ankle Straps
(4) Screw, Phillips Pan Head (1/4-20

x 2-1/4")
(4) Spacer

(4) Locknut (1/4-20)

1160724
Kit, Heel Loop w/ Ankle Strap and

Hardware, Adjustable Angle
Footplate (Pair)

AT5543 Adj. Angle

(2) Screw, Phillips Pan Head
(1/4-20 x 2-1/4")

(2) Spacer (1/4 x 11/32 x 1-3/4")
(2) Hex Nut w/ Nylon Cap (1/4-20)
(2) Flat Washer (1/4 x 5/8 x 1/16")

1035931
Kit, Heel Loop Attaching Hardware

(Pair)
Attaching Hardware Only

Toe Loops (1345) and Attaching Hardware

Footplate
Type

Toe Loop
w/o Hardware

Single #
Toe Loop

w/o Hardware
Pair #

Attaching
Hardware

Part Number
Attaching 
Hardware

Consists of
(4) Screw, Phillips Pan

Head
(10-32 x 7/8")
(4) Washer

(1/4 x 3/4 x 3/32")
(4) Locknut (10-32)

1037089103708704572X025
1651,
1650,
1350,

Footplates
(4) Screw, Phillips Pan

Head
(10-32 x 1/2")
(4) Washer

(1/4 x 3/4 x 3/32")
1104749103708704572X025AT5543

Footplates


